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10.

Maximum : 100 marks

Time : 1 hour and 30 minutes

Which of the following is a branch of science that deals with the population structure such as
birth and death rates, migration and population density?

(A) Anthropology (B) Geography
(C) Demography (D) Ethnography
Who is known as ‘Mayyazhi Gandhi’?
(A) Dr. Palpu (B) I.K. Kumaran
(C) K. Kelappan (D) V.P.Menon
Which five year plan in India is known as ‘Gadgil Yojana’?
(A) Fifth five year plan (B) Second five year plan
(C) Fourth five year plan (D) Third five year plan
Who is the present Human Resource Development Minister of India?
(A) Nirmala Sitharaman (B) Bhupender Yadav
(C) Prakash Jawadekar (D) None of the above
Who formulated the ‘Drain theory’?
(A) V.K. Krishnamenon (B) Dadabhai Naoroji
(C) Bal Gangadara Tilak (D) C.R.Das
Who is the present census commissioner of India?
(A) Sri. J.H. Hutton (B) Sri. Vijay S. Verma
(C) Sri. Manmohan Singh (D) Sri. Mrithunjay Kumar Narayan
In which year Kerala startup mission started its operation?
(A) 2006 (B) 2007
(C) 2004 (D) 2005
Who was the president of the Indian National Congress in the Amaravathi conference?
(A) A.O. Hume (B) K. Kelappan
(C) C. Sankaran Nair (D) Subash Chandra Bose
Who was the first Martyr of freedom struggle in South India?
(A) T.Prakasam (B) Vanchi Iyer
(C) V.0. Chidambaram (D) Kattabhomman
Who was the founder of ‘Sadhu Jana Paripalana Sangham’?
(A) Sree Narayana Guru (B) Pandit K.P. Karuppan
(C) Kumaragurudevan (D) Ayyankali
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The maximum number of bits sufficient to represent an octal number in the binary format is :

A 4 B) 3
© 7 D) 8
A computer program that acts as a bridge between the hardware and the user is known as :
(A) System software (B) Application software
(C) Operating system (D) Driver

Random Access Memory (RAM) that stores data bits in its memory as long as power is
supplied is known as

(A) SRAM (B) DRAM
(C) Both (A) and (B) (D) None of the above
technology is widely used in the banking industry for processing cheques.
(A) OMR (B) OCR
(C) MICR (D) All of the above
Which one is not a function of operating system?
(A) Manages storage devices (B) Execution of arithmetic operation
(C) Process input / output requests (D) Error detecting aids
EPROM stands for :

(A) Electronically Programmable Read Only Memory
(B) Erasable Programmable Read Only Memory

(C) Electronically Primary Read Only Memory

(D) Erasable Primary Read Only Memory

SIMM chip stands for :

(A) Single in-line memory module (B) Single in-line module memory
(C) Single in-line mass module (D) Single in-line module mass

Which one of the following is not an input device?

(A) Trackball (B) Microphone
(C) Touch screen (D) Monitor
devices are used to read PIN codes in postal services and reading of passenger

tickets.

(A) OMR (B) OCR

(C) Scanner (D) Digitiser
Which one is faster, Cache memory or RAM?

(A) RAM (B) Both are of same speed

(C) Cache memory (D) None
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What can be used to insert an image behind the content of the page in a word document?

(A) Watermark (B) Background Text
(C) Effects (D) Text Wrapping

How can we make a selected text bold in MS Word?

1 Ctrl+B
(11) Home tab — Font — Bold
(A) () only (B) (ii) only
(C) both (1) and (i1) (D) none of these

Which feature aligns text to both the left and right margins by adding extra space between
words as necessary?

(A) Align text right (B) Justify
(C) Align text left (D) Indent

Shortcut key for creating a new MS Word document is :
(A) Shift+N (B) Ctrl+N
(C) F5 D) F1

The symbol used to lock the cell reference, in MS-Excel is :
A) # B) &
©) $ D) /

The intersection point of a horizontal row and a vertical column in a worksheet is called :
(A) Box (B) Square
(C) Grid D) Cell

Which function in MS EXCEL is used to count the number of cells that meet a criterion?

(A) COUNT (B) IF
(C) COUNTIF (D) SUM
A formula always begins with ——————— sign in MS Excel.
A & B) /
©€) = D) $
5 116/2024-M
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29. The visual effects that occur when you move from one slide to the next during a presentation is :

(A) Slide Animation (B) Slhide Transition
(C) Slide Orientation (D) Slide Show

30. In MS Power Point, Which shortcut key can be used to start the presentation?
(A) Alt+F5 (B) Ctrl+F5
(C) F5 (D) F10

31. An object is an instance of :

(A) Inheritance (B) Constructor
(C) Class (D) Operator

32. Which of the following concepts of OOP indicates code reusability?

(A) Abstraction
(B) Polymorphism
(C) Encapsulation

(D) Inheritance

33. The preprocessor directive #include tells the compiler :
(A) To identify namespace in your source code
(B) To insert another file into your source file
(C) To include your source file into another file

(D) To include namespace in your source file

34. Which of the following statement is/are correct about member functions in a C++ class?
(1) A member function is defined only outside the class
(11) A member function with the same name as its class is called a constructor
(111) A member function operate on class data
(A) () only (B) () and (11) only
(C) (i1) and (iii) only (D) (i1) only

116/2024-M 6 A
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Which of the following statements are TRUE about the .NET CLR?

(1) It can pass data between each other without regard to the programming language in
which each component is written

(i1) The portion of the CLR that performs the tasks of loading, running and managing .NET
applications is called the virtual environment system (VES).

(111) The code run by the VES is called managed code.

(A) (1) and (i11) only B) (@) and (11) only

(C) (i) and (iii) only (D) (1) only
.NET applications written in the high level programming language are compiled into a
language-agnostic :

A JIT (B) FCL

(C) DLL (D) CIL

What does the following variable declaration mean in VB.NET?

Dim x$
(A) Dim x As Integer (B) Dim x As String
(C) Dim x As Decimal (D) Dim x As long

Which of the following statement is/are NOT correct about the access modifier in Visual
Basic .NET?

(1) Protected access modifier applies to class members only.

(i1) Public access modifier defines a type that is accessible only from within its own class or
from a derived class.

(A) (@) and (11) only (B) (@) only

(C) (1) only (D) None
Which of the following statements about primary keys in a Relational Database Management
System 1is true?

(A) A primary key must always be numeric

(B) A primary key can contain NULL values

(C) A primary key can contain multiple columns

(D) A primary key is used only for joining multiple tables

7 116/2024-M
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What does the term ‘record’ refer to in SQL?
(A) A row in a table (B) A column in a table
(C) A primary key constraint (D) A collection of all data in a table

What happens to the table structure when you use ‘DROP TABLE’ command in SQL?

(A) Table structure is truncated (B) Table structure is deleted

(C) Table structure is modified (D) Table structure remains intact

In SQL, which ‘LIKE’ pattern matches any sequence of zero or more characters?

A - ®; »
© ! D) %

Which SQL aggregate function returns the total number of unique values in a column?

(A) COUNT(DISTINCT column) (B) TOTAL (DISTINCT column)
(C) UNIQUE (column) (D) DISTINCT (column)

Which SQL join returns only the rows where there is a match in both tables based on the join

condition?
(A) NATURAL JOIN (B) INNER JOIN
(C) OUTER JOIN (D) CROSS JOIN

Which part of a URL specifies the protocol being used?

(A) Path (B) Query
(C) Host (D) Scheme

What is the primary purpose of an HTML editor?

(A) Writing email (B) Editing photos
(C) Creating and editing web pages (D) Designing databases

Which HTML tag is used to create a drop-down list?

(A) <menu> (B) <dropdown>

(C) <list> (D) <select>

116/2024-M 8 A
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In which HTML tag is the ‘cellpadding’ attribute typically used?
(A) <table> (B) <caption>
(C) <input> D) <style>
What is the correct way to declare a variable in JavaScript?
(A) declare product_name; (B) wvariable product_name;
(C) wvar product_name; (D) char product_name;
How do you define a function in JavaScript?
(A) void name(){ } (B) function name () { }
(C) defname(){ } (D) var= name() {}
Which one of the following is not belong to the tensions of the Typewriter?
(1) Carriage Tension
(i1) Ribbon Tension
(i) Rack Tension
(iv) Key Tension
(A) (1) only (B) (i) only
(C) (iv) only (D) (i11) only
What is the line space used while typing “Commercial Work”?
(1) Triple
i) 1.5
(i11) Double
(iv) Single
(A) (@i1) only (B) () only
(C) (iv) only (D) (ii) only
On which part of the typewriter do the Rigid Dog and Loose Dog act?
(1) Escapement Wheel
(11) Pinion Wheel
(111) Thumb Wheel
(iv) None of the above
(A) (@) only (B) (@v) only
(C) (ii1) only (D) (i) only
9 116/2024-M

[P.T.O.]



54. Where we will type the word ‘URGENT’. On a cover?
(1) Top Right of the Cover
(1) Top Left of the Cover
(11) Centre Portion of the Cover
(iv) None of these
(A) (ii1) only (B) (iv) only
(C) () only (D) (1) only
55. Which among the following is used to increase Keyboard tension?
(i) Variable Line Spacer
(11) Detent Release Lever
(111) Ratchet wheel
@iv) Touch Regulator
(A) (@v) only B) (@11) only
(C) (1) only (D) (@) only
56. Excess oil in the way rod channel causes
(i) dJerking Movement
(i1) Sluggish Movement
(i11) Bad Alignment
(iv) None of these
(A) (i11) only (B) (1) only
(C) (v) only (D) (1) only
57. For typing the Symbol & in Typewriter press Shift Key and
®» 5
(i) 6
() 7
av) 8
(A) (1) only (B) (i) only
(C) (iv) only (D) () only
116/2024-M 10
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Demi Official letters are concluded by?
(1)  Yours Lovingly
(i1)  Yours Obediently
(111) Yours Sincerely
(iv) Yours Faithfully
(A) @) only (B) (@v) only
(C) (i1) only (D) (@1 only
The main function of Rocker Mechanism is to help
(i) Colour Indication Ribbon
(i1) Step by Step Movement
(i11) Tab setting
(1v) Thumb Wheel
(A) (1) only (B) (1) and (i1) only
(C) (@v) only (D) (1) and (iii) only
Number of dead keys in a Malayalam Typewriter?
o 1
(1) 2
(1) 3
@iv) 4
(A) (1) only (B) (i1) only
(C) (v) only (D) (@) only
Insert articles wherever necessary.
He is ——————— European student; he has to go to —————— hospital as he is ill.
(A) a European, the hospital (B) an European, a hospital
(C) a European, a hospital (D) the European, the hospital
11 116/2024-M
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62. Fill in the blank selecting the correct form of “be” from those given below.
Either your brakes or your eye sight —————— at fault.
(A) 1s (B) are
(C)  were (D) have
63. Add the appropriate question tag.
You never say what you're thinking,
(A) areyou? (B) aren’t you?
(C) don’t you? (D) do you?
64. Identify the passive form of the given sentence.
When did they build these houses?
(A) When they built these houses? (B) When were these houses built?
(C) When these houses were build? (D) When did they built these houses?
65. Identify the correct sentence :
(A) Hardly had he stood up than the chairman asked him to sit down.
(B) Hardly he had stood up than the chairman asked him to sit down.
(C) Hardly did he stood up when the chairman asked him to sit down.
(D) Hardly had he stood up when the chairman asked him to sit down.
66. Use the one word substitute for the underlined phrasal verb.
The two boys went at each other furiously.
(A) touched (B) visited
(C) attacked (D) looked
116/2024-M 12 A
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Which of the following statements are grammatically correct?
(i) My spectacles is broken
(11) Your jeans are in the wash
(i11) A pair of shoes cost Rs. 1000
(1v) The stairs were steep and winding
(A) (1) and (11) (B) (1) and (iv)
(©) (@) and (iv) (D) (i1) and (v)
Find out the meaning of the underlined idiom.
To succeed in life one should burn the midnight oil
(A) save money (B) work very hard
(C) undertake risks (D) act with care
Identify the group consisting of the words with the correct spelling.
A @ souvenir
(i1) twelth
(111) versatility
@iv) stupefy
B 0 souvenir
(11) twelfth
(111) versitility
@iv) stupify
© @O souvenir
(11) twelfth
(111) versatility
@iv) stupefy
D) @ souvenir
(i1) twelth
(111) versatality
@iv) stupefy
Fill in the blank, using the correct word.
In the speech, she showered ————— upon him.
(A) Compliments (B) Complements
(C) Complacents (D) Complaisants
13 116/2024-M
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Al Afl(Na0Bd®A0 BHEENBOETTH :

®@0068UJa 1000
(A)  @ooUQLo Haldoo B) @RcOTOM Oaldowio
(C)  @OoUNMOIVWmDI0 HAICUMIW )0 (D)  @ooUNEMI ©aldoNEMO

®I6)Y )BHIS)HNM@IBD ‘BOCIWIMBE BB (NN’ ag)(M BRAMAMBTIBD (A IGWIUIHNM alBo :

A) _oflosimo (B) ®@ocaU00

(C) l2emom (D) @eMILEmoO

®IOY OHISOTIFBE a13608E1Ed ahflotd Koen eTBwD afeO®ELJ00?

D) agyeossl

(i) ol

(i) ®@lers]

(1v) HaHds
@ @, @) B) (i), (i)
(©) (i), (iv) D) @), (v)

‘al0B0 OBI6ME aldMo 6 21PMM®) * ag)aM @RA®AC QUMM BRa|Bo af®?
(A)  aloslO®@o (B) alod®alemo

(C)  aloBalo (D) alomlwo

‘BQOBMTI@ B Fl BN’ )M (A IBWIWO EIBVNE HEGUBlHHMM® ag)(H)?
A)  UOEBIG alOW)H: B) 2poesilajow)d:

C) HONOWOD alOW)H D) Al (aleSMMOW alOW)Hs

NAWIW B0 HEOENSOTD :

A) &A@ B) saldl@

©) salowl D) HHUY @)
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77.  ‘aflemealo’ alldle of9y@lm mMIsssl LoBl@IR® B:66NBMITID: :
(A) o_ﬂangr;’ + melo B) aflemd + melo
©) afl +melo (D) alfls +m®elo
78.  ‘@0d0000’ ag)0M @OAMmNC QUK alB61BUd a@O®ELJ00?
(1) «alomo
(1) OmOWMo
(111) wwmo
(iv) oEogo
@ @, @ B) (@), (1)
© @®, (1) D) (), (v)
79. ‘90’ af)M al3@Blen Qflal@imalEo ©:66mBETID: :
(A)  @oo B) olalo
(C) woomo (D) wmo
80. omROW af)RTIDIBB6,M QUOHE) af@6M?
(A  qussldemo B) @oaidl
(C) ®m2emo] D) myooldlalcd
81. Submit ag)M alBETIMN ®ALIMOW DAIWIGaIGo aR®I6?
(&)  madgjemo (B) @0Galet
(C) ®lda] Hellandd (D) aIdlewoowm
82. ‘MOWO’ ag)(M alBEBIM aldmMi ag)mIem @od@A0, ‘MIHH0’ ag)(M alB@TIEMI?
(A)  aveemo B) atomi
(C)  mgdmo (D) oS
83. ‘(al@flalB0’ ag)(M alBo 61@:06ME @AMAMILEME®OT)?
(A)  ©OMEWIRINOW alBo B Alud®Od®OETeyas alBo
C)  alcdlgpem D) a1BemOEEINTIa)0
A 15 116/2024-M
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ORIV QLI Jo ARODATY HEENSETTRE: :
(A)  @OWOWRDDHE) MVWo EYBDaO® 6-21QOM MEIWOW &:006mMaAlRJowlMyMM)
B) cINOTIN afyd-eBEU0 EDWVEEMIRC BRRBUD aleES]OD)
(C) @rowo almMilg 2fleslanileanmM@IeMEnNID GBRo BAIWO UBIE® BMILELMMOETY
MLy
D) melmOTie aBlmonie ag)@BIQEIMIEUAHMIEN BRI GAWOL0 af)@TTE)
@OEBUIMAUIR HEBOIAOMEMO @OLJOEYD alBo af®?
A) oo (B)  epld
(C) @lmyealosmo D) semmenil
‘@& @JSIWO@ a oM 2108518) ag)(M (ICRINETOM @DUOWo aR@O6)?
A) @B S alomilem 6100 ¥lwilg
B) @OYHD SO @PElEI0W  Q®POMO  QIEIMIo  LldHJOTTIORIGTHOM
HHFIWOOHmWY0 QM0
(C)  @OKIERSIMIISED) a oM QAIIEMI OIE0LJOEMI HlWlY

D) @& $ISIWIES alomilmio BVKIEWHL0 @AlESMIEN)

‘GO Ma00Wloelo’” ag) MO tdl@I® aflad@mMo af®?

(A) T assist (B) I will assist

(C) Iam assistant (D) I was assisted
®I6)Y alOWIMAUIDI@ nlaOi2IMalBo @OLJOEDD af®?

(A  eaISlew (B) dlsiend

(C) @oslswd D) alemlend
‘emOOMM BIQUO o) @OA@AGTHIE QO BRA|B0 aR®?

A) eoonlwo (B) @0aOo@d0I0

(C)  @mMWICIMo (D) @MWl
EDAOGEIIE:E®B) MOETUIHEIM® af)0M BRAMAGITIES (ICWIUIHEM alBo af®?

(A)  8Da0CRIOBN B0 (B) eag)adleo

(C)  ©ag)adleonio (D) ervssleo
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The cost price of a bag is Rs. 240 and gain is 20%. Find the selling price :
(A) 252 (B) 266

(C) 276 (D) 288

A sum of money becomes its double in 20 years. Find the annual rate of simple interest :
A 10% B) ™™

©) 5% D) 4%

If A:B=7:9 and B:C=5:7,then A:C=
A 5:9 B) 9:5

© 7:5 D) 9:7

The speed of a train is 35.5 m/s. What is the distance covered by it in 40 minutes?
(A) 78.5km (B) 85.2 km

(C) 96.7km D) 127.8 km

Find the value of

(-3

1 1

A — B —

(A) 0 (B) oF

1 1

c — D) —

©) T D) =0
17 116/2024-M
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96. Pointing to a man Deepika said, “His son is the brother of my daughter’s mother” :

How is Deepika related to the man?

(A) Niece B)

(C) Aunt D)

97. What comes next?

NVPS, QYSV, TBVY,

(A) WEYB B)

(C) VDXA D)

98. Iftoday is Tuesday, what will be the day after 68 days?

(A) Saturday B

(C) Monday (D)

99. Find the value of

0.46x0.46 +2x0.46x0.54 +0.54 x0.54
0.5

A 1 B)

© 3 D)

Mother

Daughter

YEBW

RZTW

Sunday

Tuesday

2

4
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100. What is the smallest angle between the minute hand and the hour hand if the clock shows

time 12:407?
A) 90° B)
(C) 140° (D)
116/2024-M 18
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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